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°]) = (54+3+5+3) x 7= 112(cm?)
°]) =15 x 2+ 112 = 142( cm?)
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(AEHA 9] Hal) = (7F=2) x (A=) x (F°])
=13 x 13 % 13 = 2197( cm?)
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(A=) ) = (9x6x4) - (4x4x4)
= 216 — 64
= 152( cm?)

el 152 77F 2 @ sh ek

R



ohe ARmAe] Fuls 9w GUz?

\

! 0.3m
/
L - - = -

0.6 0.7 x 0.3 = 0.126( m®)




9. the AgWAY AYolE THAL

(A&BA ) Bol)= (Lhol)xe+(Fol)
=(3Bx8)x2+(3+8+3+8)x5
=48 + 110 = 158( cm?)
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5520 5 20| Bl 988 — 52 = 236( cm?)
Aok & IR0 Fol: 432 — 236 = 196( cm?)
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(Zo19] Hol) =36 x 31 = 1116( cm?)
(A8 A o] HNE L] Wol)

= (8X6) X2+ (8+6+8+6)x7

= 96 + 196 = 292( cm?)
(g2 F°l9 Hel)
=(Zol9] Wol)-(A&HA 9] ANE9] Hol)
= 1116 — 292 = 824( cm?)
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EREAZE USE (O, @, @, @)sto] BzsiFyr.
@2] H1]: (7x4)x8=224(cm?)

@49] H1]: (3x4)x5=60(cm?)

®9] Hul: (7x4)x8=224(cm?)

@°] B (4x4)x5=80(cm?)

b A 224 4 60 4 224 + 80 = 588( cm?)




